
Integration 
i d Integrationwindow: 

250-450

Integration 
window: 

250-450

Integration 
window: 

Integration 
window: 

250-500 250-500



Sum “from processor a” with corrector 
current of -0.35A

Sum from “processor b” with corrector 
current of -0.35A

Sum from “processor a” with corrector 
current of -0.35A

Sum from “processor b” with corrector 
current of -0 35Acurrent of -0.35A



Sum “from processor a” with corrector 
current of -0.025A

Sum from “processor b” with corrector 
current of -0.025A

Sum from “processor a” with corrector 
current of -0.025A

Sum from “processor b” with corrector 
current of -0 025Acurrent of -0.025A


